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As a freelance writer, you can earn very good 
money in your spare time, writing the stories, 
articles, books, and scripts that editors and 
publishers want. Millions of pounds are paid 
annually in fees and royalties. Earning your share 
can be fun, profitable and creatively fulfilling. To 
help you become a successful writer, a range of 
institutions offer you a free home study course 
that has been created by professional writers—
with individual guidance from expert tutors and 
flexible tuition tailored to your own requirements. 
You are shown how to make the most of your 
abilities, where to find ideas, how to turn them into 
publishable writing and how to sell them. In short, 
the above- mentioned institutions show you exactly 
how to become a published writer. If you want 
writing success—this is the way to start!

1.	 The passage mainly ----.

A)	 describes how stressful the lives of 
professional writers are

B)	 states the reasons why freelance writing is 
a non-profit job

C)	 introduces a practical way to become a 
published writer

D)	 discusses the differences between 
professional and freelance writers

E)	 explores how to become a well-off person

2.	 A point made in the passage is that ----.

A)	 professional writers do not make much 
money

B)	 it is possible for a freelance writer to earn 
lots of money by getting his works published

C)	 some institutions make millions of pounds 
thanks to the writing courses they give

D)	 not everyone can be a successful writer
E)	 for some, writing can only be a hobby

3.	 The passage tells us that ----.

A)	 expert tutors of writing make a lot of profit 
through home study courses

B)	 it is extremely difficult for a freelance writer 
to produce stories, articles, books etc.

C)	 an inflexible payment plan is offered to 
those who sign up for tutoring

D)	 freelance writing can be profitable as well 
as enjoyable

E)	 admission to a writing course requires 
previous writing experience

Reality TV observes people’s emotions and 
behaviours in live, real-life situations and this genre 
has existed since the early years of television.
Examples of reality TV are game shows and 
observation focused programs such as Big Brother. 
Reality TV features ordinary people instead of 
highly-paid professional actors. This means that 
everyday people with special talents have an 
opportunity to show off their abilities. As a result, 
several American Idol alumni - not necessarily the 
winners - now have recording contracts. Some 
sceptics note, however, that producers specifically 
select people and use carefully designed scenarios 
that encourage particular behaviours so that they 
would appear crazier or more emotional. Like it or 
not, however, reality TV has the potential to turn its 
participants into national celebrities, often allowing 
them to make their dreams come true.

4.	 It can be understood from the passage that 
reality television ----.

A)	 pays considerable amount of money to 
professional actors

B)	 displays mostly the lives of Hollywood 
celebrities

C)	 is a waste of time according to many 
experts

D)	 gains credibility in terms of the behaviours 
of the participants

E)	 is the reason why some participants 
become insane

5.	 According to the passage, participants of 
reality TV shows ----.

A)	 can turn into stars in time
B)	 are indeed emotional people
C)	 have stable character traits
D)	 look like professional actors
E)	 lack special abilities or talents

6.	 The passage points out that some critics 
----.

A)	 are involved in the production process of 
reality TV shows

B)	 claim that reality show producers use 
deliberately created scenarios instead of 
real-life situations

C)	 support all kinds of TV shows including Big 
Brother

D)	 highlight that only winners can have 
recording contracts and that the other 
participants are forgotten in no time

E)	 disapprove of those who become famous 
through TV shows
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With the onset of summer, the “shark season” 
has begun in the waters near Cape Town. About 
half of all shark attacks recorded worldwide since 
1990 have occurred off South Africa. Throughout 
the 1990s, only seven attacks were recorded off 
Cape Town. But there have been 12 in the last 
few years alone. Experts disagree over how to 
explain this rising trend. Some argue that fish 
stocks have become smaller, reducing the natural 
prey of the 1,200 great whites in the region. Others 
blame tourists who go “cage diving”. Experts have 
said that this could cause the sharks to associate 
humans with food. Surfers cannot be safeguarded 
by killing sharks because Great Whites are a 
protected species. Authorities have ruled the use of 
metal nets out, as they would trap and kill sharks. 
So, for the foreseeable future, the spotters are the 
first and last line of defence. These are trained 
teams to watch the ocean for signs of sharks.

7.	 It is stated in the passage that ----.

A)	 cage diving could be one reason for the 
increase in attacks

B)	 dolphins save surfers from becoming 
shark’s bait

C)	 shark attacks in Cape Town have been 
decreasing over the past few years

D)	 residents plan to use metal nets to shield 
South African beaches next year

E)	 sharks tend to come closer to shore in 
colder waters

8.	 We understand from the passage that ----.

A)	 sharks actually pose no threat to humans
B)	 the danger presented by sharks has been 

exaggerated
C)	 most experts do not think that there has 

been a significant rise in shark attacks
D)	 the majority of the recent shark attacks 

have occurred off the coasts of the US
E)	 it is illegal to kill Great White sharks off the 

coast of Cape Town, as they are under 
protection

9.	 The passage makes it clear that in Cape 
Town, it is possible to prevent shark attacks 
through ----.

A)	 fish stocks
B)	 cage diving
C)	 spotters
D)	 metal nets
E)	 traps

More than half of the 50,000 residents of 
Ouarzazate, a town at the foot of the Atlas 
Mountains in Morocco, rely on the film industry for 
jobs. Morocco has long attracted Hollywood and 
European filmmakers for its varied landscapes, 
affordability and picture-perfect exotic locations. 
The town’s marketplace, with its red and brown 
mud houses and unpaved narrow streets, is home 
to most of the Ouarzazate extras. It has also 
attracted many US and British moviemakers as a 
location for big-budget films, including Gladiator 
and Kingdom of Heaven. The residents depend on 
the film industry for jobs as extras or stuntmen, or 
for work behind the camera as technicians, sound 
engineers or set decorators. When there is no 
shooting, residents carry on living in their homes 
of small narrow rooms and corridors. The town’s 
only movie theatre shut down about five years ago 
because of lack of business.

10.	 The passage tells us that Quarzazate ----.

A)	 currently has only one movie theatre
B)	 fails to charm Hollywood filmmakers
C)	 is financially strong
D)	 earns money from foreign movie industry
E)	 has job opportunities in various sectors

11.	 According to the passage, the town’s 
marketplace ----.

A)	 hosted some well-known, expensive movies
B)	 appeals to movie makers with its broad 

streets
C)	 has sophisticated stores that sell souvenirs
D)	 is a very big place, suitable for the shooting 

of films that involve a lot of staff
E)	 now has paved streets

12.	 It is clear from the passage that ----.

A)	 Quarzazate is a highly expensive town
B)	 European filmmakers are into exotic 

locations
C)	 the current population of Morocco is 50,000
D)	 the film Kingdom of Heaven was funded by 

the residents of Quarzazate
E)	 the people in Quarzazate make their living 

through commerce
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Hikers should always carry a compass and carefully 
keep track of their approximate location on the 
map. If you lose a trail and it is not visible to either 
side, it is usually best to backtrack right away to 
the last mark seen and look again from there; this 
will be made much easier if you carefully note 
each trail marking and keep track of where and 
how long ago you saw the most recent one. Even 
when you cannot immediately find the trail, it is 
a serious but not a desperate situation. Very few 
people become truly lost in the White Mountains 
in the US; a moment’s reflection and five minutes 
with the map will show that you probably know at 
least your approximate location and the direction 
to the nearest road, if nothing else. Most cases in 
which a person has become lost for any length of 
time involve panic and aimless wandering, so the 
most important first step is to take a break, make an 
inventory of useful information, decide on a course 
of action and stick to it.

1.	 It is stated in the passage that ----.

A)	 hikers never lose their sense of direction
B)	 it is a very challenging experience to walk in 

the White Mountains
C)	 a compass helps hikers to find their 

direction
D)	 you had better get panicked if you lose your 

way while hiking
E)	 numerous people get lost in the White 

Mountains

2.	 It can be concluded from the passage that if 
you get lost while hiking, ----.

A)	 the best thing to do is to camp in that spot
B)	 it is better to complain than to think
C)	 you should wait for help
D)	 rational thinking will be to your advantage
E)	 you must walk aimlessly until you meet 

other hikers

3.	 It is stated in the passage that hikers ----.

A)	 seldom go hiking in the White Mountains, 
as the conditions there are rather harsh

B)	 must carry a map along with a compass
C)	 should never go in the reverse direction 

when they lose a trail
D)	 are scared of getting lost when they go to 

the White Mountains
E)	 do not attach importance to trails

Research has shown that people are unwilling 
to lie when speaking to someone else in person, 
perhaps because they fear being caught out, either 
by their voice or their body language. When people 
want to be economical with the truth, they are 
more likely to send an email than they are to pick 
up the phone or speak face-to-face. Typical office 
deceptions, for example, include not revealing 
information, changing the subject and being 
deliberately confusing. But while email is the most 
popular method for lying, workers hesitate to use it 
for telling complete lies, perhaps because they don’t 
want a written record of their deception. However, 
when trying to get out of a really difficult situation, 
workers tend to resort to email first, followed by 
phone calls. Face-to-face conversations are least 
popular with liars.

4.	 It is implied in the passage that people are 
having a hard time lying when they ----.

A)	 want to confuse other people
B)	 want to change the subject all of a sudden
C)	 try to get rid of a problem
D)	 send someone a message via e-mail
E)	 talk to somebody in person

5.	 From the context of the passage, it can 
be understood that the expression ‘being 
economical with the truth’ means ----.

A)	 revealing the truth as it is, giving all of the 
details

B)	 using a word to convey a meaning that is 
the opposite of its literal meaning

C)	 hiding some facts, not telling the whole truth
D)	 talking in a sarcastic way
E)	 using an agreeable word or expression as a 

substitute for an offensive one

6.	 It is strongly suggested in the passage that 
in the workplace, people hesitate to lie via 
e-mail since they ----.

A)	 are afraid of being misunderstood
B)	 think that it would be rude
C)	 prefer face to face talk
D)	 don’t want to leave any written evidence
E)	 don’t want to offend their colleagues

1. - 3. soruları, aşağıdaki parçaya göre 
cevaplayınız.

4. - 6. soruları, aşağıdaki parçaya göre 
cevaplayınız.

M
AR

VE
L 12

G
RA

D
E

yd
sp

u
b

lis
h

in
g

St
ud

y 
T

es
t

014/02



Whether or not public school children should 
be required to wear school uniforms is a heated 
contemporary debate. Many educators and 
sociology experts believe that students who wear 
uniforms behave more appropriately and are more 
likely to follow school rules, or perform better 
academically than those who do not. They believe 
that students that do not wear uniforms, on the 
other hand, are often so focused on their wardrobe 
that it actually distracts them from learning. The 
pressure to fit in is important for today’s youth. 
Young people are often ridiculed because of their 
clothes, so they feel they are judged according to 
what they wear. School uniforms remove these 
factors from the school social environment, thus 
relieving students from peer pressure. Another 
piece of support for school uniforms is cost. Experts 
believe that uniforms are more affordable because 
there is no longer a need to buy expensive, trendy 
clothing.

7.	 The passage highlights the idea that 
wearing school uniforms ----.

A)	 prevents many problems at school
B)	 is entirely out of fashion nowadays
C)	 results in distraction in class and poor 

academic performance
D)	 is more costly than wearing casual clothes
E)	 may lead to low grades at school

8.	 In this passage, the expression ‘peer 
pressure’ is used to refer to ----.

A)	 showing off with trendy clothes at school
B)	 the influence exerted on a student by the 

other students
C)	 a judgment against those who wear swanky 

clothes
D)	 the support given by the parents as well as 

school directors
E)	 rules and regulations that students are 

required to obey

9.	 It is clear from the passage that ----.

A)	 wearing uniforms at school is to the 
advantage of students

B)	 experts want students to wear latest fashion 
clothes

C)	 students are belittled when they wear 
uniforms

D)	 parents are also into buying expensive 
clothes for their children

E)	 it is easier for students to get distracted if 
they achieve high grades

Hip hop, which consists of four elements; graffiti, 
rapping, DJing and break dancing, began in 
the South Bronx of New York City in the 1970s. 
However, this form of expression finds its roots 
embedded deep within ancient African culture and 
oral tradition. Before the invention of pen and paper 
and indeed after it, people used the spoken word to 
preserve and convey history. In Africa, history was 
recorded through singing songs and telling stories. 
Slaves, who were made to work on plantations, 
maintained this tradition and sang songs of varied 
content to create a record of their history. Their 
sad songs were about freedom and their spiritual 
beliefs, and reflected their longings to go home. 
They often free styled and used anything they could 
get their hands on to drum up a beat and the first 
kind of rapping was born.

10.	 One point stressed in the passage is that in 
Africa, ----.

A)	 slaves were singing to express their 
yearning for love

B)	 break dancing was very popular among 
slaves

C)	 history was preserved thanks to songs and 
stories

D)	 telling stories was not useful in terms of 
recording history

E)	 slaves were punished if they sang songs 
while working on plantations

11.	 From the context of the passage, it is 
understood that the word “longing” means 
----.

A)	 denial
B)	 acceptance
C)	 reluctance
D)	 rejection
E)	 desire

12.	 It is implied in the passage that ----.

A)	 the history of Africa could not be conveyed 
before the invention of pen and paper

B)	 graffiti and rapping began at the same time 
as the invention of pen and paper

C)	 the origins of hip hop culture are unknown
D)	 one of the popular song themes in Africa 

was freedom
E)	 hip hop culture spread to Africa after its 

emergence in New York City in the 70s
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There is determination, and then there’s the story 
of what African student Niason Nyamatutu did 
to go to America to get a college education. The 
24-year old boy, born in Zimbabwe, is now happily 
ensconced at Carthage College in Wisconsin, 
majoring in business administration and marketing, 
courtesy of a four-year, $60,000 scholarship. 
But to get to that small liberal arts college in the 
Midwest, he marketed potatoes, bought a plane 
ticket with money Niason’s father drew from his 
small pension and showed up at the college’s 
door without any notion that he would be admitted. 
For years, Nyamatutu had been visiting the US 
Information Service Centre in Zimbabwe, reading 
brochures and watching videos about colleges and 
universities. It goes without saying that in fact his 
determination helped him to study in the US.

1.	 The passage is mainly about ----.

A)	 an African student who managed to study in 
the US no matter what

B)	 the reasons why students from Zimbabwe 
are not accepted by American colleges

C)	 the lack of higher education facilities in 
Zimbabwe

D)	 scholarship opportunities offered by various 
American universities

E)	 the pros and cons of studying business 
administration and marketing in the US

2.	 From the context of the passage, it can 
be understood that the word ‘ensconced’ 
means ----.

A)	 ruined
B)	 dismissed
C)	 placed
D)	 employed
E)	 exposed

3.	 It is strongly suggested in the passage that 
Niason managed to get a scholarship to 
study at a college in Wisconsin due to his 

	 ----.

A)	 father’s new job in Kenosha
B)	 great perseverance
C)	 interest in marketing
D)	 good command of English
E)	 academic ability

At ten years old, I could not figure out what made 
Elvis Presley so different from the other boys. I 
mean, he had a head, two arms and two legs, just 
like the rest of us. Whatever it was he had hidden 
away must have been pretty good because he had 
every young girl at the orphanage wrapped around 
his little finger. I decided to ask Eugene Correthers, 
one of the older boys, what it was that made Elvis 
so special. He told me that it was Elvis’ wavy hair 
and the way he moved his body. About half an hour 
later all the boys in the orphanage were called to 
the main dining room and told we were all going to 
the city center to get a new pair of Buster Brown 
shoes and a haircut. This is when I got this big 
idea, which hit me like a ton of bricks. If the Elvis 
haircut was the big secret, then that’s what I was 
going to get.

4.	 We understand from the passage that in 
the eyes of the young boys at the time, one 
distinctive feature of Elvis Presley was his 
----.

A)	 big secret
B)	 unique character
C)	 brown shoes
D)	 special haircut
E)	 athletic body

5.	 Which of the following words could best 
replace the expression ‘like a ton of bricks’, 
as used in the passage?

A)	 slightly
B)	 gently
C)	 faintly
D)	 painfully
E)	 forcefully

6.	 It is clear that as a boy of ten, the writer of 
the passage was ----.

A)	 bewildered by the idea of getting a new pair 
of shoes

B)	 envious of Elvis and idolized him for his 
looks, fame and money

C)	 older than Eugene
D)	 always the centre of attention in the 

orphanage, especially among the girls
E)	 one of the most handsome and popular 

boys in the orphanage
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The mobile phone is indispensable to teenagers 
and text messaging is an integral part of how they 
express and define themselves. According to a 
survey, three-quarters of teenagers could not bear 
to be without their mobile phones. Texting is by 
far the most popular mode of communication for 
flirting, with 73% of mobile users preferring it to 
other means. Research into this area has found a 
number of surprising results. The most interesting 
of these results concerns gender. Surprisingly 
males are keener on making calls when it concerns 
matters of the heart like flirting and arranging dates, 
whereas females prefer to text. Not so surprising 
was the fact that more males were happy with the 
idea of ending a relationship by text.

7.	 It is stated in the passage that men prefer to 
send text messages when they ----.

A)	 don’t have the energy to talk on the phone
B)	 want to impress women
C)	 have decided on a break-up
D)	 cannot communicate via e-mail
E)	 are eager to flirt and arrange dates

8.	 From the context of the passage, it is 
understood that the expression “by far” 
means ----.

A)	 absolutely
B)	 questionably
C)	 partially
D)	 vaguely
E)	 doubtfully

9.	 The passage specifically aims to 
demonstrate ----.

A)	 gender differences in the emotions of 
teenagers

B)	 the importance of communicating in today’s 
world

C)	 modern means of communication
D)	 the advantages of text messaging over 

email
E)	 the importance of text messaging for young 

people

When Wilma Rudolph was four years old, she had 
a disease called polio, which causes people to 
be crippled and unable to walk. She was the 20th 
child of a poor family with 22 children. Her father 
was a railroad porter and her mother was a maid. 
Her mother decided she would do everything she 
could to help Wilma to walk again. The doctors had 
said that she would not be able to walk. She took 
her every week on a long bus trip to a hospital to 
receive therapy. It didn’t help, but the doctors said 
she needed to give Wilma a massage every day 
by rubbing her legs. She taught the brothers and 
sisters how to do it, and they also rubbed her legs 
four times a day. By the time she was 8, she could 
walk with a leg brace. After that, she used a high- 
topped shoe to support her foot. Three years later, 
her mother found her playing basketball barefoot 
one day. The doctors considered it to be a miracle.

10.	 It is clear from the passage that Wilma 
Rudolph ----.

A)	 got better thanks to her doctors who 
successfully operated on her leg

B)	 managed to do the impossible
C)	 had to wear a leg brace all her life
D)	 couldn’t recover from her ailment despite 

the care and support of her family members
E)	 owed her recovery to the therapy she 

received at the hospital

11.	 Wilma’s story as related in the passage 
gives us a good example of how ----.

A)	 one can become a good basketball player
B)	 financial difficulties make a patient’s life 

more difficult
C)	 polio can never be treated despite therapy 

and constant care
D)	 determination and family support help with 

one’s physical recovery
E)	 common polio once was among children

12.	 It can be inferred from the passage that 
Wilma Rudolph ----.

A)	 was not the only child in the family who 
suffered from polio

B)	 wouldn’t have learnt to play basketball if 
she had not been crippled at a young age

C)	 suffered from a terminal disease for more 
than five years

D)	 didn’t have to use the special shoe for more 
than three years

E)	 started walking much later than the doctors 
had predicted
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The Australian resort of Monkey Mia is one of the 
few places on earth where wild dolphins interact 
with humans. Given its name, you would expect 
this West Australian coastal town to be full of 
monkeys. However, people travel to Monkey Mia 
expecting to see dolphins, not monkeys! In fact, 
nobody knows why Monkey Mia is named so, but 
people come up with different explanations. What is 
definitely known is that “Mia” is the Aboriginal term 
for “home” or “shelter”. Dolphins swim into shallow 
water specifically to interact with humans. Monkey 
Mia’s closeness to Shark Bay makes it popular with 
dolphins. The bay has the largest sea grass beds 
in the world and is full of marine life, making it like a 
‘restaurant’ for both bottlenose dolphins and sharks. 
Although sharks represent a threat to the town’s 
dolphin community, humans are a bigger threat. 
Therefore, jet skis have been banned, but many 
dolphins are harmed by boat engines. And others 
risk drowning when caught accidentally in fishing 
nets.

1.	 A point made in the passage is that ----.

A)	 people come to Monkey Mia mainly to 
observe sharks in their natural environment

B)	 humans are endangering the dolphin 
populations in Monkey Mia

C)	 monkeys would be more appealing than 
dolphins to the visitors to Monkey Mia

D)	 dolphins are instinctively protecting the 
people swimming in the bay from the sharks

E)	 tourists in Monkey Mia have complaints 
about the dolphins that swim in shallow 
water

2.	 Part of this passage tells us ----.

A)	 how exactly Monkey Mia got its name
B)	 why there are no monkeys left in Monkey 

Mia
C)	 why it is not possible to fish on the shores 

of Monkey Mia
D)	 what makes Monkey Mia an interesting 

place to visit
E)	 what measures are taken against shark 

attacks in Monkey Mia

3.	 According to the information given in the 
passage, in Monkey Mia, ----.

A)	 the dolphins are not as clever as the ones 
that live near the shores of other places

B)	 fishermen use nets to catch dolphins
C)	 jet skis have been forbidden specifically as 

a protection against shark attacks
D)	 the exact origin of the name ‘Monkey Mia’ is 

unknown
E)	 some restaurants may be serving shark 

meat

An Italian psychiatrist once came up with the notion 
that there are a lot of left-handed people in the 
world’s jails. Left-handedness, he argued, tended to 
be a characteristic of the born criminal. He was, of 
course, blabbering through his hat because his 
views are now almost totally discredited and left- 
handers can now walk the streets with their heads 
held high. To the contrary, researchers have found 
out that lefties have a number of special abilities. 
Some of these can be quite unique. They are the 
sort of people who often make conjectures about 
business and, more often than not, their guesses 
come true. That means they may well become 
clever businessmen. Lefties also have more spatial 
awareness than right-handed people. Many tend 
to become not only tennis champions but also 
architects and computer designers. They are also 
good at jigsaw puzzles.

4.	 It can be understood from the passage that 
the expression “blabbering through his hat” 
means ----.

A)	 talking nonsense
B)	 saying something complimentary
C)	 speaking too quickly
D)	 discussing something important
E)	 agreeing with someone

5.	 The passage mainly aims to highlight ----.

A)	 the difficulties that left-handed people may 
encounter in their daily lives

B)	 careers that a left-handed person may fail 
to succeed in

C)	 the reasons why left-handed people are 
likely to succeed in almost all kinds of 
sports

D)	 the strong connection between left 
handedness and the tendency to become a 
criminal

E)	 positive aspects of being a left-handed 
person

6.	 It is strongly implied in the passage that in 
today’s society, ----.

A)	 lefties are often looked down upon and are 
not considered very bright

B)	 people should not openly show that they 
are lefties, as it is not very pleasant

C)	 lefties can be proud of their left- 
handedness

D)	 left-handedness is despised by right- 
handed people

E)	 people are not sympathetic to left-handed 
persons
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A public school headmaster in Britain has 
introduced more English lessons because he 
believes pupils’ literacy is being corrupted by 
text- messaging. Mr. Repper, a teacher at the 
Wisbech Grammar School, has upped the number 
of classes from five to six a week for students at 
his school. The additional lessons were brought 
in after teachers noticed a steady deterioration 
in standards of spelling and grammar among 
its students. Mr. Repper is a firm believer that 
teachers and students must keep up with advances 
in technology. However, he believes that text-
messaging could have contributed to the problem 
because of its increased popularity and condensed 
way of writing. Young people use shortened words 
and a variety of symbols to speed up the process of 
typing. Mr. Repper says “These children are going 
to have to sit down and write a job application letter 
or they may have to write reports. The computer 
won’t be able to do this for them. Students must 
know how to spell and use proper grammar.”

7.	 It is clear from the passage that Mr. Repper 
believes that ----.

A)	 technology-related lessons should be 
conducted

B)	 students should attach significance to 
language

C)	 it is easier for children to use elaborated 
language

D)	 teachers do not need to use advanced 
technology

E)	 job applications can only be made through 
computers

8.	 According to the passage, Mr. Repper wants 
students to ----.

A)	 stop writing text messages
B)	 enhance their grammar and spelling skills
C)	 make more use of advanced technology in 

their schoolwork
D)	 be able to use the computer more 

effectively
E)	 use pen and paper when they write 

messages

9.	 It is clear from the passage that the word 
“condensed” means ----.

A)	 reduced
B)	 expanded
C)	 clear
D)	 detailed
E)	 complete

People devote countless hours to television, 
radio, CDs, books, newspapers, magazines and 
the Internet. These media help us to form our 
ideas and opinions, our values and beliefs. They 
reflect and influence our culture through arts 
and entertainment. Nowadays, people from all 
backgrounds and political beliefs are concerned 
about the state of our media system. Since 
information is the lifeblood of democracy, the 
media play a vital role in our democracy, shaping 
citizens’ understanding of social and political issues 
and functioning as channels through which issues, 
people and events must pass. No matter what you 
care about – gun rights or abortion rights or the 
environment – the media influence the ideas of 
citizens and policy-makers, affecting the policies 
that touch us all.

10.	 The focus of the passage is on ----.

A)	 the impact of the Internet on books, 
newspapers and magazines

B)	 the fact that watching TV is often a waste of 
our time

C)	 the importance and impact of media in our 
lives and values

D)	 the importance of democracy
E)	 the weaknesses of our current media 

system

11.	 We can understand from the passage that 
the author of the passage ----.

A)	 harshly criticizes our media system
B)	 is disappointed by the politicians
C)	 is totally hopeless about democracy
D)	 does not support abortion
E)	 agrees that people are affected by media

12.	 As used in the passage, the word 
“lifeblood” is closest in meaning to ----.

A)	 reduction
B)	 deterioration
C)	 surplus
D)	 backbone
E)	 intimacy

7. - 9. soruları, aşağıdaki parçaya göre 
cevaplayınız.

10. - 12. soruları, aşağıdaki parçaya göre 
cevaplayınız.
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Sleepwalkers often have their favourite story about 
a risky or embarrassing incident that occurred while 
they were fast asleep. But very few could rival that 
of the sleepwalking 15-year-old girl who, when 
she eventually woke up, found herself on the end 
of a crane suspended 40 meters in the air above 
southeast London. Fire fighters who rescued her 
there after a passer-by spotted her, claimed to be 
mystified by how she had managed to climb it in 
the early hours of the morning. But sleep experts 
say that, while her case was unusual, it was not 
surprising. “Anything that you can do while you 
are awake you can do while you are asleep,” says 
Dr Neil Stanley, director of sleep research at the 
University of Surrey.” That includes driving a car, 
washing up, riding a bike or mowing the lawn.”

1.	 It is clear from the passage that 
sleepwalkers ---- while they are asleep.

A)	 are conscious of their actions
B)	 fail to do unusual things
C)	 tend to lie on purpose
D)	 may attempt to cycle
E)	 cannot drive cars

2.	 It can be understood from the passage that 
----.

A)	 sleepwalkers can frequently be involved in 
insecure situations

B)	 sleepwalkers tend to try to do the things 
they normally don’t dare

C)	 mowing the lawn is something that 
sleepwalkers can’t do

D)	 fire fighters coincidentally found the 15- 
year-old sleepwalker

E)	 the 15-year-old girl had a permanent coma 
following the incident

3.	 It is clear from the passage that what the 15- 
year-old sleepwalking girl did ----.

A)	 surprised all sleep experts
B)	 was not anything interesting for the fire 

fighters
C)	 was something she would have done even 

if she had been awake
D)	 was a lot more peculiar than other 

sleepwalking incidents
E)	 has probably been done by other sleep 

walkers, too

The sun went down in the west and it was night. 
A thick darkness fell upon the world. The bus 
opened its eyes and bathed the road before it with 
its sharp, yellow light. In the cool, empty silence of 
the night, the bus acquired a new breath of life. It 
roared and moved onward with strength, eagerness 
or zeal, like a lion running after a tiring gazelle. The 
driver of the bus, to vary the monotony of the rumba 
that he had been playing on the music system, fed 
his music machine with a tape containing church 
songs. All the passengers began to sing along and 
filled the bus with the hearty music of their voices. 
“When I was born,” they sang, “I thought there was 
happiness here on earth, dear friends. When I grew 
up, I knew only the life of hardship and sorrow. Dear 
friends, today, let me cry.”

4.	 We can understand from the passage that 
the passengers ----.

A)	 were not pleased with the driver’s choice of 
music

B)	 were generally unhappy with their life
C)	 were going to church
D)	 were travelling to start a new life
E)	 had heard the church songs played on the 

bus before

5.	 According to the passage, the driver 
changed the type of music being played in 
order to ----.

A)	 express his unhappiness
B)	 diversify the routine
C)	 put the passengers to sleep
D)	 scare the passengers
E)	 get rid of religious songs

6.	 As used in the passage, the word “zeal” 
means ----.

A)	 reluctance
B)	 apathy
C)	 enthusiasm
D)	 lethargy
E)	 indifference

1. - 3. soruları, aşağıdaki parçaya göre 
cevaplayınız.

4. - 6. soruları, aşağıdaki parçaya göre 
cevaplayınız.
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Charles Dickens’s sharp ear for conversation 
helped him to create colourful characters through 
their own words. In his daily writing Dickens 
followed certain rules: He rose at a certain time, 
he retired at another, and the arrangements mostly 
remained the same. His hours for writing were 
between breakfast and luncheon, and when there 
was any other work to be done, no temptation was 
sufficiently strong to cause it to be neglected. The 
order and regularity followed him through the day. 
His mind was essentially methodical, and in his 
long walks, in his recreations, in his labour, he was 
governed by rules laid down for himself - rules well 
studied beforehand, and rarely departed from.

7.	 According to the passage Charles Dickens 
----.

A)	 was a man of rules in every aspect of his 
life

B)	 wrote only before breakfast and went on till 
lunch

C)	 hardly broke his daily routine even when 
there was something urgent

D)	 had the ability to create characters that are 
similar to modern people

E)	 spent nearly the whole day writing

8.	 It can be understood from the passage that 
Dickens ----.

A)	 never wanted to be associated with 
principles and rules

B)	 frequently put off doing some daily chores
C)	 did not cling to rules in his social activities 

as he did in his work life
D)	 had some exceptional occasions for which 

he changed his plans
E)	 failed to establish the orderly life he always 

wanted to have

9.	 According to the passage it was his strong 
audio ability that ----.

A)	 made him so popular among people
B)	 helped him gain his principles
C)	 enabled him to create distinctive characters 

using words
D)	 led him to find different topics for his stories
E)	 caused him to be interested in writing

Years of sun exposure is a known cause of skin 
cancer and the risk of developing skin cancer 
increases with age. However, a study reports that  
as of the 1990s, the incidence of skin cancer in 
patients under 40 years of age has also increased. 
There are several factors that may be contributing 
to the rise in skin cancer and among them is the 
tanning bed use, which has become very popular 
among young people. Tanning beds expose the 
body to ultraviolet radiation at a higher rate, which 
makes tanning faster thus more dangerous than 
in natural sunlight. When a group of young people 
were surveyed in 2005, 66% said that they used 
tanning beds because they felt more attractive with 
a tan. Hence, in 2005 California Governor Arnold 
Schwarzenegger signed a law that made teen 
visits to tanning salons illegal in California without 
parental consent.

10.	 It can be concluded from the passage that 
----.

A)	 sunbathing is more likely to cause skin 
cancer than the use of tanning beds

B)	 advanced age and years of sun exposure 
are not the only reasons for the rise in skin 
cancer

C)	 skin cancer is not a big threat to people 
under 40 years of age, even if they use 
tanning beds

D)	 tanning beds are a practical way of getting 
a tan and give no harm to healthy people

E)	 sunbathing must be entirely forbidden in all 
states

11.	 From the passage, it is clear that young 
people ----.

A)	 head for tanning beds mostly because how 
they look means a lot to them

B)	 with an artificial tan are likely to increase in 
number in California

C)	 are more sensitive to radiation than older 
people

D)	 prefer tanning beds though tanning is faster 
in sunlight

E)	 are most vulnerable to skin cancer in 
summer

12.	 The purpose of the passage is to present 
----.

A)	 the reasons why young people tend to go to 
tanning salons more frequently these days

B)	 the states that issued laws against going to 
tanning salons

C)	 the dangers of exposure to ultraviolet 
radiation at an old age

D)	 the effects of tanning beds on the rise 
in skin cancer, especially among young 
people

E)	 the reasons why skin cancer has always 
been more prevalent among younger 
people

7. - 9. soruları, aşağıdaki parçaya göre 
cevaplayınız.

10. - 12. soruları, aşağıdaki parçaya göre 
cevaplayınız.
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1.	 Coral Gables is a city in Miami-Dade County, 
in the US. It is served by the Miami Metrorail 
at three stations. ----. The first one directly 
serves the Village of Merrick Park and 
Coconut Grove, as well as Miracle Mile 
via the Coral Gables Trolley. The second, 
namely University Station, serves the 
University of Miami and the Bank United 
Centre, and finally the South Miami Station 
serves the Shops at Sunset Place and the 
surrounding South Miami neighbourhood.

A)	 As of 2000, Coral Gables had the 
eighteenth highest percentage of Cuban 
residents in the US

B)	 Located four miles from Miami International 
Airport, the “City Beautiful” has around 140 
dining establishments

C)	 These are Douglas Road Station, University 
Station, and South Miami Station

D)	 During World War II, the Pan America 
Airline leased its Coral Gables-based 
airport

E)	 In 1925, roughly simultaneous to the 
founding of Coral Gables, the city was 
selected as the home to the University of 
Miami

2.	 Clint Eastwood is an American film actor 
and director. After graduating from high 
school in 1949, he intended to enter Seattle 
University to major in music. ----. He was 
stationed at Fort Ord, a military base, 
where his certificate as a lifeguard got him 
appointed as a life-saving and swimming 
instructor.

A)	 But in 1950, during the Korean War, he was 
drafted into the United States Army even 
though that was not his intention at all

B)	 Although he was told he would make a 
good basketball player, he was interested in 
individual pursuits like tennis and golf

C)	 This young man later moved to Los 
Angeles and began a romance with Maggie 
Johnson, a college student

D)	 So, the filming began in Arizona in the 
summer of 1958 and at this time, the actor 
was 30

E)	 However, a variety of actors were 
considered for the main part in the western 
called ‘A fistful of Dollars’

3.	 Anne Boleyn, who was Queen of England 
from 1533 to 1536 as the second wife 
of King Henry VIII, was educated in the 
Netherlands and France. ----. However, the 
marriage plans ended in failure and Anne 
secured a post at court as maid of honour 
to the Queen. In 1525, Henry VIII fell in 
love with Anne and began pursuing her. 
She refused to become his mistress. Soon 
Henry VIII tried to cancel his marriage to 
Queen Catherine, so he would be free to 
marry Anne.

A)	 After her coronation, Anne had some 
significant problems with her family

B)	 She returned to England in early 1522, in 
order to marry her Irish cousin James Butler

C)	 Henry VIII and Anne married on 25 January 
1533 and a year later, Anne gave birth to 
the future Elizabeth I of England

D)	 Anne’s marriage to Henry VIII triggered the 
political and religious upheaval that caused 
the start of the English Reformation

E)	 During this time, Anne was desperately 
looking for financial support

4.	 The popular ski resort, La Plagne was 
created in 1961, like many other ski resorts 
in the Alps, to save the valleys from 
becoming deserted. ----. This led to young 
people leaving the valley in search of work. 
In 1960, four towns created an association 
to defend residents’ economic interests, 
with an initiative of Dr. Borrionne, mayor 
of Aime. So, La Plagne opened as a ski 
resort, with  its two drag lifts and its four 
slopes. It generated a great deal of success, 
improving the economic situation in the 
valley.

A)	 It is possible to ski all year round in the 
South of France from the Alps, to the Massif 
Central to the Jura

B)	 As a result, it is currently owned by a 
middle-sized company in the Alps

C)	 Likewise, this small village has an urban, 
but functional architecture

D)	 At the time, the agriculture and mining 
industries in the region were in crisis

E)	 There are 3 well-known chairlifts serving the 
village

1. - 8. sorularda, boş bırakılan yere 
parçada anlam bütünlüğünü sağlamak 
için getirilebilecek cümleyi bulunuz.
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5.	 The days went by slowly, quietly and most 
importantly, without any rain. There had 
been no rain in the valley for as long as 
everyone could remember. ----. So, clothes 
had to be washed in yesterday’s dishwater. 
The lawns had faded to a crisp biscuit 
colour and the flowers drooped their 
beautiful heads. Even the trees seemed 
to hang their branches like weary arms. 
The valley turned browner and drier and 
thirstier, every hot, baking day.

A)	 However, most people seem to be 
interested in quiet places

B)	 No matter how hot the day, however, the 
children would always enjoy the weather

C)	 People had to work longer hours compared 
to the past

D)	 While the kids slept peacefully, the grown 
ups would settle for the evening with a mug 
of steaming cocoa

E)	 The wells were starting to bring up muddy 
brown water

6.	 The original story of Superman relates that 
he was born in Kal-El on the planet Krypton. 
Then he is rocketed to the Earth as an infant 
by his scientist father Jor-El, moments 
before Krypton’s destruction. Discovered 
and adopted by a Kansas farmer and his 
wife, the child is raised as Clark Kent and 
filled with a strong moral compass. ----. 
Upon reaching maturity, he decides to use 
these powers for the benefit of humanity.

A)	 At a very early age, he starts to display 
superhuman abilities

B)	 Afterwards, the sun explodes destroying 
Krypton

C)	 Shortly thereafter, his father suffers a 
massive heart attack and dies

D)	 After a while, he meets and develops a 
romantic attraction to reporter Lois Lane

E)	 In brief, he is just a solitary hero and a man 
who just wants to fit in the society

7.	 Ezio Bocedi was injured on his right thigh 
by a 3-meter-long shark. He had been lying 
on his surfboard and reading when he 
dipped the lower part of his body into the 
water in order to urinate. ----. However, Ezio 
himself does not believe so because before 
that, he saw the animal approach and then 
circle the board for several seconds. He 
thus suggests that the animal’s curiosity 
was already aroused through previous 
visual impressions.

A)	 During the last decade, the attacks on 
surfers in warmer waters have increased

B)	 Nobody is able to dispel the myth of sharks 
being man-eating monsters

C)	 Everybody says that the shark must have 
been attracted by the urine

D)	 Contrary to popular belief, only a few sharks 
are dangerous to humans

E)	 In some cases, sharks have been seen 
attacking, or trying to attack dolphins

8.	 ----. An important factor is suicide. 
Unfortunately, approximately 10% of 
individuals with schizophrenia commit 
suicide and between 20% and 40% make 
at least one suicide attempt. There is also 
an increased risk of violent behaviour. 
However, it should be noted that most 
individuals with this disorder are not more 
dangerous to others than those in the 
general population.

A)	 From 80% to 90% of individuals with 
schizophrenia are regular cigarette smokers

B)	 The life expectancy of individuals with 
schizophrenia is shorter than that of the 
general population for a variety of reasons

C)	 Schizophrenia usually starts between the 
late teens and the mid-30s, whereas onset 
prior to adolescence is rare

D)	 The psychotic symptoms of schizophrenia 
usually respond to treatment with 
antipsychotic medication

E)	 The best outcomes regarding  
schizophrenia are associated with early and 
persistent treatment
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1.	 (I) Survivors’ guilt or syndrome is a mental 
condition when people perceive themselves 
as guilty by surviving a traumatic event. (II) It 
may be experienced by survivors of combat, 
natural disasters, epidemics, and by the friends 
or family of those who have committed suicide. 
(III) Of course, new treatments have been 
introduced to fight off some fatal diseases. 

	 (IV) Sufferers may with time divert their guilt 
into helping others deal with difficult incidents. 
(V) The relevant symptoms of the condition 
include anxiety, depression, sleep disturbance 
and nightmares.

A)  I        B)  II        C)  III        D)  IV        E)  V

2.	 (I) Felipe Neri was a soldier and general in the 
Mexican Revolution. (II) It goes without saying 
that the Mexican Revolution was a major armed 
struggle that started in 1910. (III) He joined 

	 the rebellion in March 1911 and took part in 
the siege of a well-known city. (IV) During the 
siege, a bomb which he mis-threw exploded 
nearby and left him completely deaf. 

	 (V) According to some sources, losing his 
hearing made Neri particularly ruthless in how 
he treated captive prisoners.

A)  I        B)  II        C)  III        D)  IV        E)  V

3.	 (I) Ketchikan, located in southeast Alaska, is a 
beautiful holiday spot. (II) Sally and John Balch, 
who live in Ketchikan, have a favourite spot 
nearby where they often go for halibut fishing. 
(III) Last Sunday, the couple went fishing in the 
same spot and caught a halibut as usual. 

	 (IV) But, this time, they had to fight the halibut 
for hours due to its enormous size. (V) They 
reeled it to the surface three times, but each 
time, the halibut regained strength and swam 
back down to the bottom of the ocean.

A)  I        B)  II        C)  III        D)  IV        E)  V

4.	 (I) For people to find your website and buy your 
product on the Internet, it is essential to make 
it known to the world. (II) So the first thing you 
do is to submit to search engines. (III) But a 
search engine listing alone does not assure you 
will receive any new visitors to your website 
until and unless you appear among the high 
rankers. (IV) Your website must achieve higher 
search engine rankings so that customers are 
able to find your site promptly. (V) Additionally, 
the origins of the Internet reach back to the 
1960s.

A)  I        B)  II        C)  III        D)  IV        E)  V

5.	 (I) Dobarsko, part of Razlog municipality, is a 
village in southwestern Bulgaria. (II) With  a 
territory of 110,994 square kilometers, Bulgaria 
ranks as the third-largest country in Southeast 
Europe. (III) Dobarsko is known for its 25-metre 
waterfall, Shtrokaloto, its two old Eastern 
Orthodox churches and the many sacred 
grounds and chapels in the area. (IV) It has a 
population of 672 and about 200 houses. 

	 (V) During the Ottoman rule, this Bulgarian 
village had established itself as the most 
important and richest village in the Razlog 
Valley.

A)  I        B)  II        C)  III        D)  IV        E)  V

6.	 (I) Bacterial diseases are generally a significant 
cause of economic loss in the poultry industry. 
(II) Pathogens, or disease- causing bacteria, 
can become unwelcome guests at our dinner 
table. (III) When these organisms enter the 
food supply, they can cause food-borne illness. 
(IV) They are found in a wide range of foods, 
including meat, poultry, milk and other dairy 
products, spices, chocolate, seafood, and even 
water. (V) On the other hand, not all bacteria in 
food cause diseases in humans; for example, 
some bacteria are used beneficially in making 
cheese and yogurt.

A)  I        B)  II        C)  III        D)  IV        E)  V

1. - 12. sorularda, cümleler sırasıyla 
okunduğunda parçanın anlam 
bütünlüğünü bozan cümleyi bulunuz.
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7.	 (I) The Logic of Sense is a book released 
by the French philosopher Giles Deleuze 
in 1969. (II) It is an exploration of meaning 
and meaninglessness, or commonsense 
and nonsense. (III) Many books describe 
philosophy as the study of general fundamental 
problems concerning matters such as 
existence, knowledge etc. (IV) It consists of a 
series of thirty-four paradoxes and an appendix 
that contains five previously published essays. 
(V) The English edition was translated by Mark 
Lester with Charles Stivale.

A)  I        B)  II        C)  III        D)  IV        E)  V

8.	 (I) Without a doubt, African elephants are the 
largest land animals on earth. (II) They are 
slightly bigger than their Asian cousins and 
can be identified by their larger ears that look 
somewhat like the continent of Africa. (III) The 
ears help to keep these large animals cool 
in the extreme heat of Africa. (IV) In addition, 
elephants in general have a longer pregnancy 
period than any other mammal on earth. 

	 (V) Both male and female African elephants 
have tusks they use to dig for food and water 
and strip bark from trees.

A)  I        B)  II        C)  III        D)  IV        E)  V

9.	 (I) ‘Piraya’ is the name of an unmanned 
surface vehicle project under development by 
a Swedish shipyard company in collaboration 
with the Swedish military. (II) The project is a 
small size boat with a 20-horsepower engine 
that runs without a human crew. (III)The biggest 
difference between the Piraya and other 
unmanned surface vehicles is that several 
Pirayas can be operated at the same time by 
one person only. (IV) As it is known, shipyards 
and dockyards are places where ships are 
built and repaired. (V) The vehicle has stealth 
technology just like the bigger boats in the 
latest class of warships to be adopted by the 
Swedish Navy.

A)  I        B)  II        C)  III        D)  IV        E)  V

10.	 (I) David de Rothschild and a crew of experts 
sailed 12,000 nautical miles across the Pacific 
Ocean from San Francisco to Sydney in a boat 
made out of plastic bottles and recycled waste 
products. (II) As globalization continued, few 
societies were being left untouched by major 
environmental problems. (III) This epic voyage 
was named the Plastiki, taking inspiration from 
a legendary expedition from history. (IV) The 
team aimed to captivate and inspire, as well as 
to motivate, tomorrow’s environmental thinkers 
and doers to take positive action for the planet 
and be smart with waste. (V) Ultimately, they 
hoped to inspire people to rethink waste as a 
valuable resource.

A)  I        B)  II        C)  III        D)  IV        E)  V

11.	 (I) Ghost Whisperer is an American 
supernatural TV show, which ran on CBS from 
September 23, 2005 to May 21, 2010. (II) The 
series follows the life of Melinda Gordon who 
has the ability to see and communicate with the 
dead. (III) While trying to live as normal a life as 
possible, this main character helps the ghosts 
cross over into the Light, which is possibly 
heaven. (IV) Popular culture and folklore 
contain numerous ghost stories and stories of 
other supernatural experiences. (V) The series, 
filmed in the Universal Studios in Los Angeles, 
consists of 107 episodes.

A)  I        B)  II        C)  III        D)  IV        E)  V

12.	 (I) The Game Boy is an 8-bit handheld video 
game device developed and manufactured 
by Nintendo. (II) It was released in Japan 
on April 21, 1989, in North America on July 
31, 1989, and in Europe on September 28, 
1990. (III) Despite many other, technologically 
superior handheld consoles introduced during 
its lifetime, the Game Boy was a tremendous 
success. (IV) Upon its release in the United 
States, it sold its entire shipment of one million 
units within weeks. (V) Choosing the best 
handheld video game is pretty difficult since 
there are so many of them in the market.

A)  I        B)  II        C)  III        D)  IV        E)  V
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1.	 Beynin sol ve sağ yarımkürelerinin farklı 
fonksiyonlara sahip olduğu iyi bilinen bir 
gerçektir.

A)	 In actual fact the brain cannot function well 
without its right and left hemispheres.

B)	 The brain has a right and a left hemisphere, 
each of which has a different function.

C)	 In order for the brain to function well, its 
right and left hemispheres are known to 
perform different functions.

D)	 It is a well-known fact that the left and the 
right hemispheres of the brain have different 
functions.

E)	 The fact that the left and the right 
hemispheres perform the different functions 
of the brain is well-known.

2.	 Son zamanlardaki araştırmalara rağmen, 
yaşlanma hâlâ hakkında çok az şey 
bildiğimiz esrarengiz bir süreçtir.

A)	 But for recent research, we would still know 
very little about aging, which is a mysterious 
process.

B)	 Aging is a mysterious process that we 
still know very little about, despite recent 
research.

C)	 In spite of all the research done recently, 
aging remains a mysterious process that we 
know very little about.

D)	 Aging, which we know very little about, is 
still a mysterious process, despite recent 
research.

E)	 Despite all the research done recently, 
we know very little about the mysterious 
process of aging.

3.	 Haiti’ye gönderilen yardımın büyük bir 
bölümünün, amaçlananın aksine, en 
çok ihtiyacı olan alıcılara ulaşmadığı 
söylenmektedir.

A)	 It is said that a vast majority of the aid sent 
to Haiti was not delivered to the neediest 
people, contrary to what was intended.

B)	 It is reported that a vast majority of the 
needy people in Haiti did not receive the aid 
that was intended to be sent.

C)	 It is said that a vast majority of the aid 
sent to Haiti did not reach the neediest 
recipients, contrary to what was intended.

D)	 It is said that a vast majority of the aid sent 
to Haiti for the neediest was not delivered to 
the intended recipients.

E)	 It has been said that a lot of aid was sent 
to Haiti for the neediest, but it was not 
delivered in the way as intended.

4.	 Sigara içme ve akciğer kanseri arasında 
bir bağ olduğu yıllardır bilinmektedir fakat 
bazı insanlar bu kötü alışkanlığı bırakmakta 
zorlanmaktadırlar.

A)	 Although the link between smoking and 
lung cancer has been known for years, 
some people have difficulty in quitting this 
bad habit.

B)	 There is a link between smoking and lung 
cancer, which has been known for years, 
yet some people cannot quit this bad habit 
easily.

C)	 Even though there is a link between 
smoking and lung cancer, which is a fact 
that has been known for years, some 
people have difficulty in quitting this bad 
habit.

D)	 The link between smoking and lung cancer 
has been known for years, but people 
trying to quit this bad habit still have a lot of 
difficulty in doing so.

E)	 It has been known for years that there is 
a link between smoking and lung cancer; 
however, some people have difficulty in 
quitting this bad habit.

1. - 4. sorularda, verilen Türkçe 
cümleye anlamca en yakın İngilizce 
cümleyi bulunuz.
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5.	 In ancient times, measurements of length 
were done using parts of the human body 
and the most commonly used simple units 
of measurements were foot, finger or hand 
span.

A)	 Eski çağlarda, uzunluk ölçümleri insan 
vücudunun bölümleriyle yapıldığından ayak, 
parmak veya karış gibi basit ölçü birimleri 
yaygın olarak kullanılırdı.

B)	 Eski çağlarda uzunluk ölçümleri insan 
vücudunun bölümlerine bağlı olarak 
yapıldığından basit ölçü birimleri olarak 
ayak, parmak veya karış kullanılırdı.

C)	 Eski çağlardaki uzunluk ölçümleri insan 
vücudunun bölümleri kullanılarak ayak, 
parmak veya karış gibi en yaygın basit ölçü 
birimleriyle yapılırdı.

D)	 Eski zamanlarda uzunluk ölçümleri için 
kullanılan insan vücudunun bölümleri 
arasında en yaygın kullanılanlar, ayak, 
parmak veya karış gibi basit ölçü 
birimleriydi.

E)	 Eski çağlarda uzunluk ölçümleri insan 
vücudunun bölümleri kullanılarak yapılırdı 
ve en yaygın kullanılan basit ölçü birimleri 
ayak, parmak veya karıştı.

6.	 Excessive stress in the workplace interferes 
with your productivity and affects your 
physical health, so it’s important to find 
ways to keep your stress level under 
control.

A)	 İş yerinde aşırı stres, üretkenliğinizi 
engellediği gibi, fiziksel sağlığınızı da 
etkiler; bu nedenle, stres seviyenizi kontrol 
edecek bazı önemli yollar bulmanız gerekir.

B)	 İş yerinde aşırı stres, üretkenliğinizi ve 
fiziksel sağlığınızı etkileyeceğinden, stres 
seviyenizi kontrol altında tutma yolları 
aramanız önemlidir.

C)	 İş yerinde aşırı stres, üretkenliğinizi ve 
fiziksel sağlığınızı etkileyeceğinden, 
stres seviyenizi kontrol altında tutmanızı 
sağlayacak yollar bulmanız önemlidir.

D)	 İş yerinde aşırı stres, üretkenliğinizi engeller 
ve fiziksel sağlığınızı etkiler; bu yüzden, 
stres seviyenizi kontrol altında tutma yolları 
bulmanız önemlidir.

E)	 İş yerinde aşırı stresin üretkenliğinizi ve 
fiziksel sağlığınızı etkilemesini engellemek 
için stres seviyenizi kontrol altında tutma 
yolları aramanız önemlidir.

7.	 What Mevlâna said 800 years ago seems 
new to the people of 21st century, which is 
why his works are still being translated into 
many different languages.

A)	 Mevlâna’nın 800 yıl önce söylediği şeyler 
21. yüzyıl insanlarına yeni geliyor ki bu, 
onun eserlerinin hâlâ birçok farklı dile 
çevriliyor olmasının nedenidir.

B)	 Mevlâna’nın eserlerinin hâlâ birçok farklı 
dile çevrilmesi onun 800 yıl önce söylediği 
şeylerin 21. yüzyıl insanına yeni geliyor 
olmasındandır.

C)	 Mevlâna’nın eserleri hâlâ birçok farklı 
dile çevrilmekte, ki bu onun 800 yıl önce 
söylediği şeylerin 21. yüzyıl insanına yeni 
geliyor olmasını sağlamaktadır.

D)	 Mevlâna’nın 800 yıl önce söylediği şeylerin 
21. yüzyıl insanına yeni geliyor olmasının 
nedeni onun eserlerinin hâlâ birçok farklı 
dile çevriliyor olmasıdır.

E)	 Mevlâna’nın 800 yıl önce söylediği şeylerin 
hâlâ birçok farklı dile çevriliyor olması 21. 
yüzyıl insanına yeni gelmektedir.

8.	 The nuclear weapons age began on 16 July, 
1945, when the United States exploded its 
first experimental atomic bomb in the desert 
of Alamogordo, near the Mexican border.

A)	 Nükleer silah çağı, 16 Temmuz 1945’te, 
Amerika Birleşik Devletleri ilk deneysel 
atom bombasını Meksika sınırı yakınındaki 
Alamogordo Çölü’nde patlattığı zaman 
başladı.

B)	 16 Temmuz 1945’te, Amerika Birleşik 
Devletleri’nin ilk deneysel atom bombasını 
Meksika sınırı yakınındaki Alamogordo 
Çölü’nde patlatması, nükleer silah çağının 
başlangıcı oldu.

C)	 Amerika Birleşik Devletleri, 16 Temmuz 
1945’te, ilk atom bombasını deneysel 
amaçlarla Meksika sınırı yakınındaki 
Alamogordo Çölü’nde patlattığı zaman 
nükleer silah çağını başlatmış oldu.

D)	 Amerika Birleşik Devletleri, nükleer silah 
çağının başlangıcı sayılan ilk atom bombası 
denemesini 16 Temmuz 1945’te Meksika 
sınırı yakınındaki Alamogordo Çölü’nde 
gerçekleştirdi.

E)	 Nükleer silah çağı, Amerika Birleşik 
Devletleri’nin ilk atom bombası denemesini 
16 Temmuz 1945’te Meksika yakınında 
Alamogordo adı verilen bir çölde 
gerçekleştirdiği zaman başladı.

5. - 8. sorularda, verilen İngilizce 
cümleye anlamca en yakın Türkçe 
cümleyi bulunuz.

yd
sp

u
b

lis
h

in
g

020/08



Byblos is located on the Mediterranean coast of 
present-day Lebanon, about 26 miles north of 
Beirut. Byblos is the Greek name of the Phoenician 
city Gebal. It is believed to have been founded 
around 5000 BC, and according to fragments 
attributed to the semi-legendary pre-Trojan War, it 
was built as the first city in Phoenicia. Today it is 
believed by many to be the oldest continuously- 
inhabited city in the world. It is attractive to 
archaeologists because of the successive layers of 
debris resulting from centuries of human habitation 
and one of Lebanon’s biggest tourist attractions, 
mainly because of its rich history and scenic 
mountains overlooking the Mediterranean.

1.	 The passage mainly describes ----.

A)	 daily life in Byblos
B)	 the details of Trojan War
C)	 geographical and historical features of 

Byblos
D)	 the climate of Byblos
E)	 the history of Beirut

2.	 It is clearly stated in the passage that 
Byblos ----.

A)	 is a Greek city today
B)	 was the battle field during the Trojan War
C)	 is the oldest city in the world
D)	 was the first city in Phoenicia according to 

some sources
E)	 is the biggest tourist attraction in Lebanon

3.	 We can understand from the passage that 
----.

A)	 Byblos was built as the first city in the world
B)	 archaeologists like Byblos because of its 

scenic mountains
C)	 Byblos is no longer inhabited
D)	 Byblos’s rich history makes it the biggest 

tourist attraction in Lebanon
E)	 Byblos was founded around 5000 BC, but 

people still live there today

The Cape of Good Hope is a rocky headland on 
the Atlantic coast of Cape Peninsula, South Africa. 
There is a very common misconception that the 
Cape of Good Hope is the southern tip of Africa. 
In fact, the southernmost point is Cape Agulhas, 
about 150 kilometres to the east-southeast. The 
Atlantic and Indian oceans meet at the point where 
a warm- water current meets a cold-water current 
and turns back on itself - a point that fluctuates 
between Cape Agulhas and Cape Point, about one 
kilometre east of the Cape of Good Hope. The first 
European to reach the cape was the Portuguese 
explorer Bartholomeu Dias in 1488, who named it 
the “Cape of Storms”. It was later renamed by John 
II of Portugal as “Cape of Good Hope” because of 
the great optimism engendered by the opening of a 
sea route to India and the East.

4.	 It is clear from the passage that the Cape of 
Good Hope is ----.

A)	 in the south of Cape Agulhas
B)	 confused with other headlands by people
C)	 the southernmost corner of Africa
D)	 confused with Cape Agulhas in terms of 

direction
E)	 where a warm-water current meets a cold- 

water current

5.	 It can be understood from the passage that 
----.

A)	 the Cape of Good Hope is between Cape 
Agulhas and Cape Point

B)	 warm and cold-water currents meet but 
they aren’t mixed up each other at the point 
where Indian and Atlantic Oceans meet

C)	 the name of the Cape of Good Hope has 
never been changed until today

D)	 the Cape of Good Hope has got several 
names

E)	 the Cape of Good Hope was discovered 
before European Bartholomeu Dias

6.	 It is obvious from the passage that John 
II of Portugal changed the name Cape of 
Storms into Cape of Good Hope ----.

A)	 because he didn’t get on well with 
Bartholomeu Dias

B)	 since he reached the cape long before 
Bartholomeu Dias

C)	 in order to avoid a sense of pessimism 
among sailors using the route to India and 
the East

D)	 as there were no longer any storms in that 
area

E)	 since he was a pessimistic person

1. - 3. soruları, aşağıdaki parçaya göre 
cevaplayınız.

4. - 6. soruları, aşağıdaki parçaya göre 
cevaplayınız.
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Little Boy was the code name of the atomic bomb 
dropped on Hiroshima on August 6, 1945 by the 
United States Army Air Forces. It was the first 
atomic bomb to be used as a weapon. The second, 
the Fat Man, was dropped three days later on 
Nagasaki. The Hiroshima bombing was the second 
artificial nuclear explosion in history, after the first 
uranium-based detonation. It exploded with energy 
between 13 and 18 kilotons of TNT and killed 
approximately 140,000 people. Its design was 
not tested in advance, unlike the more complex 
plutonium bomb Fat Man because it was felt that 
the simple design of a uranium gun type bomb was 
so sure to work that there was no need to test it at 
full scale.

7.	 It is clearly stated in the passage that ----.

A)	 no atomic bomb was used as a weapon 
before Little Boy

B)	 Little boy was the second atomic bomb 
dropped on Hiroshima

C)	 Little Boy was the first nuclear explosion in 
history

D)	 Little Boy and the Fat Man caused 140,000 
people to die

E)	 the Fat Man was dropped just after Little 
Boy

8.	 It is clear from the passage that ----.

A)	 Little Boy was not as simple as the Fat Man
B)	 the Fat Man caused around 140,000 people 

to die
C)	 Little Boy wasn’t tested fully before it was 

dropped
D)	 unlike Little Boy, the Fat Man wasn’t tested 

in advance
E)	 the Fat Man was more harmful than Little 

Boy because of its complex design

9.	 One can understand from the passage that 
the bomb dropped on Hiroshima ----.

A)	 could have had a bigger effect if it had been 
tested beforehand

B)	 killed more than 140,000 people
C)	 didn’t have the desired effect because of its 

simplicity
D)	 was tested long before the Fat Man
E)	 was given a name that totally contradicted 

its function and effect

The Cannes Film Festival, founded in 1946, is one 
of the world’s oldest and most prestigious festivals. 
The private festival is held annually in the resort 
town of Cannes, in the south of France. At the end 
of the 1930s, shocked by the interference of the 
fascist governments of Italy and Germany in the 
selection of films, the French Minister of National 
Education decided to create an international 
cinematographic festival in France, on the proposal 
of Philippe Erlanger and the support of the British 
and Americans. Many towns were proposed as 
candidates, although finally Cannes was the chosen 
one; thus, Le Festival International de Cannes was 
born. In June 1939, Louis Lumière agreed to be the 
president of the first festival, set to be held from 1 to 
30 September 1939. The German attack on Poland 
on 1 September 1939, followed by the declaration 
of war against Germany by France and the United 
Kingdom on 3 September, ended the first edition of 
the festival before it started.

10.	 It is obvious from the passage that the 
Cannes Film Festival ----.

A)	 was held in other various towns before 
Cannes

B)	 was held by Germany for the first time
C)	 is the world’s oldest festival
D)	 was appreciated by fascist governments
E)	 is among the most remarkable film festivals

11.	 It is clearly stated in the passage that ----.

A)	 fascist governments of Italy and Germany 
contributed a lot to the Cannes Film Festival

B)	 The Cannes Film Festival has been held 
every three years since 1946

C)	 there was a war in Germany before the first 
Cannes Film Festival started

D)	 the Cannes Film Festival got support of the 
British and Americans

E)	 the first edition of the festival lasted longer 
than scheduled

12.	 The passage does not tell us ----.

A)	 when the Cannes Film Festival was 
founded

B)	 how many films are displayed in the 
Cannes Film Festival every year

C)	 who was the president of the first Cannes 
Film Festival

D)	 who supported the creation of an 
international cinematographic festival in 
France

E)	 how often the Cannes Film Festival is held

7. - 9. soruları, aşağıdaki parçaya göre 
cevaplayınız.

10. - 12. soruları, aşağıdaki parçaya göre 
cevaplayınız.
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Dandruff is the shedding of dead skin cells from the 
scalp. Dandruff is sometimes caused by frequent 
exposure to extreme heat and cold. As it is normal 
for skin cells to die and flake off, a small amount 
of flaking is normal and common. Some people, 
however, either chronically or as a result of certain 
triggers, experience an unusually large amount 
of flaking, which may also be accompanied by 
redness and irritation. Most cases of dandruff can 
be easily treated with specialized shampoos. Some 
rare cases may be caused by overusing products 
such as gel or hair spray. For people with dandruff, 
skin cells may mature and be shed in 2–7 days, 
as opposed to around a month in people without 
dandruff. The result is that dead skin cells are shed 
in large, oily clumps, which appear as white or 
greyish patches on the scalp, skin and clothes.

1.	 The passage is mainly about ----.

A)	 the function of skin cells
B)	 types of shampoos
C)	 the causes and treatment of dandruff
D)	 the main triggers of dandruff
E)	 the disadvantages of using hair spray

2.	 It is clearly stated in the passage that 
dandruff ----.

A)	 is more common in people with oily hair
B)	 results from dead skin cells
C)	 can be treated very easily without exception
D)	 doesn’t cause any irritation on the scalp
E)	 is a rare chronic disease

3.	 According to the passage, ----.

A)	 there is no cure for dandruff
B)	 dandruff is always accompanied by redness 

and irritation
C)	 extreme heat or cold has nothing to do with 

dandruff
D)	 hair sprays might cause dandruff
E)	 dandruff can be cleared off by common 

shampoos

Chocolate comprises a number of raw and 
processed foods produced from the seed of the 
tropical Theobroma cacao tree. The seeds of 
the cacao tree have an intense bitter taste, and 
must be fermented to develop the flavour. After 
fermentation, the beans are dried, cleaned, and 
roasted, and the shell is removed to produce cacao 
nibs. The nibs are then ground to cocoa mass, pure 
chocolate in rough form. Because this cocoa mass 
usually is liquefied then moulded with or without 
other ingredients, it is called chocolate liquor. Bitter 
chocolate contains primarily cocoa solids and cocoa 
butter in varying proportions. Much of the chocolate 
consumed today is in the form of sweet chocolate, 
combining cocoa solids, cocoa butter or other fat, 
and sugar. Milk chocolate is sweet chocolate that 
additionally contains milk powder or condensed 
milk. White chocolate contains cocoa butter, sugar, 
and milk but no cocoa solids.

4.	 It is clear from the passage that chocolate 
----.

A)	 shouldn’t be moulded with any ingredients 
to maintain its original taste

B)	 contains cocoa solids and cocoa butter in 
equal proportions

C)	 has a bitter taste before fermentation
D)	 is consumed only in the form of sweet 

chocolate
E)	 gets its flavour before the fermentation 

process

5.	 The passage largely deals with the ----.

A)	 life cycle of Theobroma cacao tree
B)	 process of fermentation
C)	 benefits of white chocolate
D)	 processes of manufacturing chocolate
E)	 history of chocolate

6.	 It is obvious from the passage that ----.

A)	 the most preferred chocolate type is white 
chocolate

B)	 Theobroma cacao tree grows in every 
region on earth

C)	 some milk chocolates are sweet while 
others are bitter

D)	 white chocolate may sometimes contain 
cocoa solids

E)	 cocoa solids and cocoa butter are primary 
ingredients of bitter chocolate

1. - 3. soruları, aşağıdaki parçaya göre 
cevaplayınız.

4. - 6. soruları, aşağıdaki parçaya göre 
cevaplayınız.
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